ISSN: 2008-6822 (electronic)

http://dx.doi.org/10.22075/ijnaa.2022.6386



On the convergence of new algorithms procedures in Banach spaces

Noor N. Salem, Zena H. Maibed*

College of Education for Pure Science, Ibn Al-Haithem Department of Mathematics, Iraq

(Communicated by Abasalt Bodaghi)

Abstract

In this paper, a new algorithms type three-step via projection Jungck Suzuki generalized mappings are introduced, and the convergence of projection Jungck-Zenor algorithm and projection Jungck P-algorithm are proved. On the other hand, we proved that the projection Jungck-Zenor algorithm converges to a common fixed point faster than of projection Jungck P- algorithm in Banach spaces.

Keywords: projection Mappings, Jungck algorithms, Rate of convergence

2020 MSC: Primary 46B20, 46C50, Secondary 39B82

1 Introduction

The fixed point theory is a wonderful, and exciting topic for mathematics. In many fields such as general and algebraic topology, mathematical economics, approximation theory, game theory and etc. The scientist Luitzen Brouwer presented in 1912 [6] a theory named after him the Brouwer theory, which is considered one of the oldest theorems of the fixed point

Scientists also developed the concept of this theory until the polish mathematician S. Banach presented in [4] a basic result after this theory called the Banach contraction principle. This theory has a great benefit and is considered one of the most important results that were used in the analysis, as it played a major and important role in studying many problems in different fields, see [3, 13, 17, 16]. Finding fixed point values is not easy but rather complicated, therefore researchers have resorted to discovering algorithm methods to find their value. In 1953 Mann introduced a one-step algorithm called the Mann algorithm [11]. In [9] the scientist Ishikawa proposed a two-step Ishikawa algorithm. Noor in [12], presented a three-step algorithm defined as: $y_0 \in Y$

$$y_{n+1} = (1 - \alpha_n) y_n + \alpha_n T(\mathbf{i}_n)$$

$$\mathbf{i}_n = (1 - \beta_n) y_n + \beta_n T(\mathbf{j}_n)$$

 $j_n = (1 - \gamma_n) y_n + \gamma_n T(y_n)$, where $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ lie in [0, 1]. On the other hands, Sainuan in [14] defined a three-step algorithm as follows:

$$h_{n+1} = (1 - \alpha_n) To_n + \alpha_n Tl_n$$

Email addresses: nour.nabeel1203a@ihcoedu.uobaghdad.edu.iq (Noor N. Salem), mrs_zena.hussein@yahoo.com (Zena H. Maibed)

^{*}Corresponding author

$$l_n = (1 - \beta_n) o_n + \beta_n T o_n$$

 $o_n = (1 - \gamma_n) h_n + \gamma_n T h_n$, where $\{\alpha_n\}, \{\beta_n\}$ and $\{\gamma_n\}$ lie in $[0, 1]$.

Sainuan bears out the convergence theorem for the P - algorithm and also proved that this algorithm converges faster than S and Ishikawa algorithm.it was Jungck who first introduced the algorithms scheme, named after him Jungck iteration [10] to approximate common fixed points now known as Jungck contraction maps. Suzuki [18] likewise presented a type of map that fulfils condition (C). In addition, researchers Dhompongsa and Kaewcharoen developed this concept and got results that contribute to the fixed point theory that satisfies the condition (C), see [7, 8, 15].

Definition 1.1. [10] Any mappings $T, S: C \to X$ are called Jungck contraction if $L \in (0,1)$ such that

$$||Tx - Ty|| \le L||Sx - Sy|| \forall x, y \in C.$$

Definition 1.2. [1] Any mappings $T, S: C \to X$ are called Jungck non-expansive if we have

$$||Tx - Ty|| \le ||Sx - Sy|| \forall x, y \in C.$$

Definition 1.3. [5] Let $\{a_n\}$ and $\{d_n\}$ be sequences convergent to a and d, respectively. Then, $\{a_n\}$ converges faster than $\{d_n\}$ if $\lim_{n\to\infty}\left|\frac{a_n-a}{d_n-d}\right|=0$.

Lemma 1.4. [2] Let $\{x_n\}$ and $\{y_n\}$ be two sequence in X such that $\lim_{n\to\infty} \sup x_n \leq c$, $\lim_{n\to\infty} \sup y_n \leq c$ and $\lim_{n\to\infty} \sup \|t_nx_n + (1-t_n)y_n\| = c$, holds for some $c \geq 0$, then $\lim_{n\to\infty} \|x_n - y_n\| = 0$

2 Main Results

In this section, we define a new type of mapping, such as projection Jungck Suzuki generalized mapping and introduce iterative methods type three step. Also, we study the rate of convergence on these methods.

Definition 2.1. Let C be a non-empty subset of a normed space X. Then $T: C \to X$ and $\mathcal{P}_c: X \to C$ are called projection Jungck Suzuki Generalized mapping if $\frac{1}{2} ||x - \mathcal{P}_c(x)|| \le ||Sx - Sy||$ implies that $||\mathcal{P}_c(x) - \mathcal{P}_c(y)|| \le ||L||Sx - Sy|| + ||\phi(||x - \mathcal{P}_c(x)|| + ||x - Sx||)$ where

 $\frac{1}{2} \|x - \mathcal{P}_c(x)\| \leq \|\mathcal{S}x - \mathcal{S}y\| \text{ implies that } \|\mathcal{P}_c(x) - \mathcal{P}_c(y)\| \leq L \|\mathcal{S}x - \mathcal{S}y\| + \phi (\|x - \mathcal{P}_c(x)\| + \|x - \mathcal{S}x\|), \quad \text{when } L \in (0, 1) \text{ and } \phi: R^+ \to R^+ \text{such that } \phi(0) = 0$

Definition 2.2. Let $T, S: C \to X$ and $\mathcal{P}_c: X \to C$. Then we define the following algorithms:

1. The projection Jungck P-algorithm

For $h_0 \in C$ the sequence $\{h_n\}$ is defied by $Sh_{n+1} = (1 - \alpha_n) \mathcal{P}_c To_n + \alpha_n \mathcal{P}_c Tl_n$ $Sl_n = (1 - \beta_n) S\mathcal{P}_c(o_n) + \beta_n \mathcal{P}_c To_n$ $So_n = (1 - \gamma_n) S\mathcal{P}_c(h_n) + \gamma_n \mathcal{P}_c Th_n$, where $\{\alpha_n\}, \{\beta_n\}, \{\gamma_n\}$ lies in [0, 1]

2. The projection Jungck Zenor-algorithm

For $c_0 \in C$ the sequence $\{c_n\}$ is defied by

 $\mathcal{S}c_{n+1} = \mathcal{P}_c T d_n$

 $\mathcal{S}d_n = (1 - \alpha_n) \mathcal{P}_c T e_n + \alpha_n \mathcal{G} T e_n$

 $Se_n = (1 - \beta_n) SP_c(c_n) + \beta_n Tc_n$, where \mathcal{G} is nonexpansive function and $\{\alpha_n\}, \{\beta_n\}$ lie in [0, 1].

A mapping SP_c is commute, i.e., $SP_c(x_n) = P_cS(x_n)$.

Lemma 2.3. Let C be a non-empty closed convex subset of a Banach space X. $T: C \to X$ be a projection Jungck Suzuki Generalized if $\{Sc_n\}$ Generated by projection Jungck Zenor algorithm such that $0 \le \lambda \le \beta_n, \alpha_n \le 1$ for all $n \in \mathbb{N}$ then

- 1. $\lim_{n\to\infty} \|\mathcal{S}c_n t\|$ exists for all $t \in F(\mathcal{P}_c, T)$
- 2. $\lim_{n\to\infty} \|\mathcal{P}_c T e_n \mathcal{G} \mathcal{T}\|$, $\|=0$ and $\lim_{n\to\infty} \|\mathcal{P}_c \mathcal{S}(c_n) \mathcal{S} c_n\| = 0$

Proof. Let $t \in \mathcal{F}(\mathcal{P}_c, T)$, where $\mathcal{F}(\mathcal{P}_c, T)$ is a family of common fixed point, then

$$\|\mathcal{S}c_{n+1} - t\| = \|\mathcal{P}_{c}Td_{n} - t\|$$

$$\leq \|Td_{n} - t\|$$

$$\leq L \|\mathcal{S}d_{n} - t\| + \phi (\|t - \mathcal{P}_{c}(t)\| + \|t - \mathcal{S}t\|)$$

$$\leq L \|\mathcal{S}d_{n} - t\|$$

$$\leq \|\mathcal{S}d_{n} - t\|$$

$$= \|(1 - \alpha_{n})\mathcal{P}_{c}Te_{n} + \alpha_{n}\mathcal{G}Te_{n} - (1 - \alpha_{n} + \alpha_{n})t\|$$

$$= \|(1 - \alpha_{n})(\mathcal{P}_{c}Te_{n} - \mathcal{S}) + \alpha_{n}(\mathcal{G}Te_{n} - t)\|$$

$$\leq [(1 - \alpha_{n})\|\mathcal{P}_{c}Te_{n} - t\| + \alpha_{n}\|\mathcal{G}Te_{n} - t\|]$$

$$\leq [(1 - \alpha_{n})\|\mathcal{P}_{c}Te_{n} - t\| + \alpha_{n}\|Te_{n} - t\|]$$

$$\leq [(1 - \alpha_{n})\|Te_{n} - t\| + \alpha_{n}\|Te_{n} - t\|]$$

$$\leq \|Te_{n} - t\|$$

$$\leq L \|\mathcal{S}e_{n} - t\|$$

$$\leq L \|\mathcal{S}e_{n} - t\|$$

$$\leq \|\mathcal{S}e_{n} - t\|$$

$$\leq \|\mathcal{S}e_{n} - t\|$$

Now,

$$\|\mathcal{S}e_{n} - t\| = \|(1 - \beta_{n}) \,\mathcal{S}\mathcal{P}_{c}(c_{n}) + \beta_{n}Tc_{n} - (1 - \beta_{n} + \beta_{n}) \,t\|$$

$$= \|(1 - \beta_{n}) \,(\mathcal{S}\mathcal{P}_{c}(c_{n}) - t) + \beta_{n} \,(Tc_{n} - t)\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}\mathcal{P}_{c}(c_{n}) - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$= (1 - \beta_{n}) \,\|\mathcal{F}_{c}\mathcal{S}(c_{n}) - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + L\beta_{n} \,\|\mathcal{S}c_{n} - t\| + \phi \,(\|t - \mathcal{P}_{c}(t)\| + \|t - \mathcal{S}t\|)$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + L\beta_{n} \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + \beta_{n} \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + \beta_{n} \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + \beta_{n} \,\|\mathcal{S}c_{n} - t\|$$

$$\leq \|\mathcal{S}c_{n} - t\|$$

$$\leq \|\mathcal{S}c_{n} - t\|$$

$$(2.2)$$

Substitute Equation (2.2) in to Equation (2.1)

$$\|\mathcal{S}c_{n+1} - t\| \le \|\mathcal{S}c_n - t\|$$
So, $\|\mathcal{S}c_{n+1} - t\| \le \|\mathcal{S}c_n - t\| \Longrightarrow \{\mathcal{S}c_n\}$ is non-increasing
$$\le \|\mathcal{S}c_{n-1} - t\|$$
(2.3)

$$\|\mathcal{S}c_{n+1} - t\| \le \|\mathcal{S}c_0 - t\| \Longrightarrow \{\mathcal{S}c_n\} \text{ is bounded}$$
 (2.4)

From (2.3) and (2.4) we get

$$\lim_{n\to\infty} \|\mathcal{S}c_n - t\| \text{ is exists.}$$

Now to prove,

$$\lim_{n \to \infty} \|\mathcal{P}_c T e_n - \mathcal{G} T e_n\| = 0 \text{ and } \lim_{n \to \infty} \|\mathcal{P}_c \mathcal{S}\left(c_n\right) - \mathcal{S} c_n\| = 0$$

Let,
$$c \in R$$
; $\lim_{n \to \infty} \|\mathcal{S}c_n - t\| = c \Longrightarrow \lim_{n \to \infty} \sup \|\mathcal{S}c_n - t\| \le c$ (2.5)

Now, we apply the three condition To prove that, $\lim_{n\to\infty} \sup \|\mathcal{P}_c T e_n - t\| \le c$

$$\lim_{n \to \infty} \sup \|\mathcal{P}_{c} Te_{n} - t\| \leq \lim_{n \to \infty} \sup |Te_{n} - t|$$

$$\leq \lim_{n \to \infty} \sup |L \| Se_{n} - t\| + \phi (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|)]$$

$$\leq \lim_{n \to \infty} \sup |L \| Se_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup \|Se_{n} - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_{n}) S\mathcal{P}_{c}(c_{n}) + \beta_{n} Tc_{n} - (1 - \beta_{n} + \beta_{n}) t \|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_{n}) (S\mathcal{P}_{c}(c_{n}) - t) + \beta_{n} (Tc_{n} - t) \|$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|S\mathcal{P}_{c}(c_{n}) - t\| + \beta_{n} \|Tc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + \beta_{n} \|Tc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + L\beta_{n} \|Sc_{n} - t\| + \phi (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|)]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + L\beta_{n} \|Sc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + L\beta_{n} \|Sc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + \beta_{n} \|Sc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup [(1 - \beta_{n}) \|Sc_{n} - t\| + \beta_{n} \|Sc_{n} - t\|]$$

$$\leq \lim_{n \to \infty} \sup |Sc_{n} - t\|$$

$$\leq \lim_{n \to \infty} \sup |Sc_{n} - t\|$$

So,

$$\lim_{n \to \infty} \sup \|\mathcal{P}_c T e_n - t\| \le c. \tag{2.6}$$

To proof that, $\lim_{n\to\infty} \sup \|\mathcal{P}_c \mathcal{S}(c_n) - t\| \le c$, we have

$$\lim_{n \to \infty} \sup \|\mathcal{P}_c \mathcal{S}(c_n) - t\| \le \lim_{n \to \infty} \sup \|\mathcal{S}c_n - t\|$$

$$\le c.$$

So,

$$\lim_{n \to \infty} \sup \|\mathcal{P}_c \mathcal{S}(c_n) - t\| \le c. \tag{2.7}$$

To prove that, $\lim_{n\to\infty} \sup \|\mathcal{G}Te_n - t\| \le c$,

$$\lim_{n \to \infty} \sup \|\mathcal{G}Te_n - t\| \le \lim_{n \to \infty} \sup \|Te_n - t\|$$

$$\le \lim_{n \to \infty} \sup [L \|\mathcal{S}e_n - t\| + \phi (\|t - \mathcal{P}_c(t)\| + \|t - \mathcal{S}t\|)]$$

$$\le \lim_{n \to \infty} \sup [L \|\mathcal{S}e_n - t\|]$$

$$\le \lim_{n \to \infty} \sup \|\mathcal{S}e_n - t\|$$

$$\le \lim_{n \to \infty} \sup \|(1 - \beta_n) \mathcal{S}\mathcal{P}_c(c_n) + \beta_n Tc_n - (1 - \beta_n + \beta_n) t\|$$

$$\le \lim_{n \to \infty} \sup \|(1 - \beta_n) (\mathcal{S}\mathcal{P}_c(c_n) - t) + \beta_n (Tc_n - t)\|$$

$$\le \lim_{n \to \infty} \sup [(1 - \beta_n) \|\mathcal{S}\mathcal{P}_c(c_n) - t\| + \beta_n \|Tc_n - t\|]$$

$$\le \lim_{n \to \infty} \sup [(1 - \beta_n) \|\mathcal{F}_c\mathcal{S}(c_n) - t\| + \beta_n \|Tc_n - t\|]$$

$$\le \lim_{n \to \infty} \sup [(1 - \beta_n) \|\mathcal{S}c_n - t\| + \beta_n \|Tc_n - t\|]$$

$$\leq \lim_{n \to \infty} \sup \left[(1 - \beta_n) \| \mathcal{S}c_n - t \| + L\beta_n \| \mathcal{S}c_n - t \| + \phi \left(\| t - \mathcal{P}_c(t) \| + \| t - \mathcal{S}t \| \right) \right]$$

$$\leq \lim_{n \to \infty} \sup \left[(1 - \beta_n) \| \mathcal{S}c_n - t \| + L\beta_n \| \mathcal{S}c_n - t \| \right]$$

$$\leq \lim_{n \to \infty} \sup \left[(1 - \beta_n) \| \mathcal{S}c_n - t \| + \beta_n \| \mathcal{S}c_n - t \| \right]$$

$$\leq \lim_{n \to \infty} \sup \| \mathcal{S}c_n - t \|$$

$$\leq c.$$

So,

$$\lim_{n \to \infty} \sup \|\mathcal{G}Te_n - t\| \le c. \tag{2.8}$$

Now,

$$c = \lim_{n \to \infty} \sup \|Sc_{n+1} - t\|$$

$$= \lim_{n \to \infty} \sup \|\mathcal{P}_c T d_n - t\|$$

$$\leq \lim_{n \to \infty} \sup [L \|Sd_n - t\| + \phi(\|t - \mathcal{P}_c(t)\| + \|t - St\|)]$$

$$\leq \lim_{n \to \infty} \sup [L \|Sd_n - t\|]$$

$$\leq \lim_{n \to \infty} \sup \|Sd_n - t\|$$

$$= \lim_{n \to \infty} \sup \|(1 - \alpha_n) \mathcal{P}_c T e_n + \alpha_n \mathcal{G} T e_n - (1 - \alpha_n + \alpha_n) t\|$$

$$= \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{P}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{P}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{P}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{F}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{F}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{F}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \alpha_n) (\mathcal{F}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\|$$

$$\leq \lim_{n \to \infty} \sup \|L \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|L \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|L \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|L \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) S \mathcal{F}_c (e_n) + \beta_n T e_n - (1 - \beta_n + \beta_n) t\|$$

$$= \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S \mathcal{F}_c (e_n) - t + \beta_n \|T e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|T e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|\mathcal{F}_c S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|(1 - \beta_n) \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|S e_n - t + \beta_n \|S e_n - t\|$$

$$\leq \lim_{n \to \infty} \sup \|S e_n - t + \beta_n$$

So, $\lim_{n\to\infty} \sup \|(1-\alpha_n)(\mathcal{P}_c T e_n - t) + \alpha_n (\mathcal{G} T e_n - t)\| = c$. From (2.6), (2.8), (2.9) and by using lemma (1.4) we get

$$\lim_{n \to \infty} \|\mathcal{P}_c T e_n - \mathcal{G} T e_n\| = 0.$$

Also, $\lim_{n\to\infty} \sup [(1-\beta_n) \| \mathcal{P}_c \mathcal{S}(c_n) - t \| + \beta_n \| \mathcal{S}c_n - t \|] = c$. From (2.5), (2.7), (2.10) and by using lemma (1.4) we get

$$\lim_{n \to \infty} \|\mathcal{P}_c \mathcal{S}\left(c_n\right) - \mathcal{S}c_n\| = 0$$

Lemma 2.4. Let $T: C \to X$ be a projection Jungck Suzuki generalized. If $\{Sh_n\}$ generated by projection Jungck -P algorithm such that $0 \le \lambda \le \beta_n, \alpha_n \le 1$, for all $n \in \mathbb{N}$, then

- 1. $\lim_{n\to\infty} \|\mathcal{S}h_n t\|$ exists for all $t \in \mathcal{F}(\mathcal{P}_c, T)$
- 2. $\lim_{n\to\infty} \|\mathcal{P}_c T o_n \mathcal{P}_c T l_n\| = 0$ and $\lim_{n\to\infty} \|\mathcal{P}_c \mathcal{S} h_n \mathcal{S} h_n\| = 0$

Theorem 2.5. Let X be a normed space, T be a projection Jungck Suzuki generalized mapping and $\mathcal{F}(T, \mathcal{S}, \mathcal{P}_c) \neq \phi$. Then the projection Jungck Zenor algorithm converge faster than projection Jungck P-algorithm.

Proof . For Projection Jungck- Zenor algorithm

$$\|Sc_{n+1} - t\| = \|\mathcal{P}_{c}Td_{n} - t\|$$

$$\leq \|Td_{n} - t\|$$

$$\leq L \|Sd_{n} - t\| + \phi (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|)$$

$$\leq L \|Sd_{n} - t\|$$

$$= L \|(1 - \alpha_{n})\mathcal{P}_{c}Te_{n} + \alpha_{n}\mathcal{G}Te_{n} - (1 - \alpha_{n} + \alpha_{n})t\|$$

$$= L \|(1 - \alpha_{n})(\mathcal{P}_{c}Te_{n} - t) + \alpha_{n}(\mathcal{G}Te_{n} - t)\|$$

$$\leq L [(1 - \alpha_{n})\|\mathcal{P}_{c}Te_{n} - t\| + \alpha_{n}\|\mathcal{G}Te_{n} - t\|]$$

$$\leq L [(1 - \alpha_{n})\|\mathcal{P}_{c}Te_{n} - t\| + \alpha_{n}\|Te_{n} - t\|]$$

$$\leq L [(1 - \alpha_{n})\|Te_{n} - t\| + \alpha_{n}\|Te_{n} - t\|]$$

$$\leq L [(1 - \alpha_{n})\|Se_{n} - t\| + \phi (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|) + L\alpha_{n}\|Se_{n} - t\|$$

$$+\phi (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|)]$$

$$\leq L [L (1 - \alpha_{n})\|Se_{n} - t\| + L\alpha_{n}\|Se_{n} - t\|]$$

$$\leq L [L - L\alpha_{n} + L\alpha_{n}]\|Se_{n} - t\|$$

$$\leq L^{2} \|Se_{n} - t\|. \tag{2.11}$$

Now

$$\|\mathcal{S}e_{n} - t\| = \|(1 - \beta_{n}) \,\mathcal{S}\mathcal{P}_{c}(c_{n}) + \beta_{n}Tc_{n} - (1 - \beta_{n} + \beta_{n}) \,t\|$$

$$= \|(1 - \beta_{n}) \,(\mathcal{S}\mathcal{P}_{c}(c_{n}) - t) + \beta_{n} \,(Tc_{n} - t)\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}\mathcal{P}_{c}(c_{n}) - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$= (1 - \beta_{n}) \,\|\mathcal{P}_{c}\mathcal{S}(c_{n}) - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + \beta_{n} \,\|Tc_{n} - t\|$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + L\beta_{n} \,\|\mathcal{S}c_{n} - t\| + \phi \,(\|t - \mathcal{P}_{c}(t)\| + \|t - \mathcal{S}t\|)$$

$$\leq (1 - \beta_{n}) \,\|\mathcal{S}c_{n} - t\| + L\beta_{n} \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \beta_{n}(1 - L)) \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \lambda(1 - L)) \,\|\mathcal{S}c_{n} - t\|$$

$$\leq (1 - \lambda(1 - L)) \,\|\mathcal{S}c_{n} - t\|.$$

$$(2.12)$$

Substitute Equation (2.12) in to Equation (2.11)

$$\|\mathcal{S}c_{n+1} - t\| \le L^{2}[1 - \lambda(1 - L)] \|\mathcal{S}c_{n} - t\|$$

$$\le L^{2n}[1 - \lambda(1 - L)]^{n} \|\mathcal{S}c_{0} - t\|$$
Put, $\mathcal{P} \cdot \mathcal{J} \cdot \mathcal{Z} \cdot I = L^{2n}[1 - \lambda(1 - L)]^{n} \|\mathcal{S}c_{0} - t\|$.

 $+ \phi (\|t - \mathcal{P}_c(t)\| + \|t - \mathcal{S}t\|)$ $\leq L (1 - \alpha_n) \|\mathcal{S}o_n - t\| + L\alpha_n \|\mathcal{S}l_n - t\|.$

(2.13)

For Projection Jungck-P algorithm

$$||Sh_{n+1} - t|| = ||(1 - \alpha_n) \mathcal{P}_c To_n + \alpha_n \mathcal{P}_c Tl_n - (1 - \alpha_n + \alpha_n) t||$$

$$= ||(1 - \alpha_n) (\mathcal{P}_c To_n - t) + \alpha_n (\mathcal{P}_c Tl_n - t)||$$

$$\leq (1 - \alpha_n) ||\mathcal{P}_c To_n - t|| + \alpha_n ||\mathcal{P}_c Tl_n - t||$$

$$\leq (1 - \alpha_n) ||To_n - t|| + \alpha_n ||Tl_n - t||$$

$$\leq L (1 - \alpha_n) ||So_n - t|| + \phi (||t - \mathcal{P}_c(t)|| + ||t - St||) + L\alpha_n ||Sl_n - t||$$

Now

$$\|Sl_{n} - t\| = \|(1 - \beta_{n}) \, S\mathcal{P}_{c}(o_{n}) + \beta_{n}\mathcal{P}_{c}To_{n} - (1 - \beta_{n} + \beta_{n}) \, t\|$$

$$= \|(1 - \beta_{n}) \, (S\mathcal{P}_{c}(o_{n}) - t) + \beta_{n} \, (\mathcal{P}_{c}To_{n} - t)\|$$

$$\leq (1 - \beta_{n}) \, \|S\mathcal{P}_{c}(o_{n}) - t\| + \beta_{n} \, \|\mathcal{P}_{c}To_{n} - t\|$$

$$= (1 - \beta_{n}) \, \|\mathcal{P}_{c}S(o_{n}) - t\| + \beta_{n} \, \|\mathcal{P}_{c}To_{n} - t\|$$

$$\leq (1 - \beta_{n}) \, \|So_{n} - t\| + \beta_{n} \, \|To_{n} - t\|$$

$$\leq (1 - \beta_{n}) \, \|So_{n} - t\| + L\beta_{n} \, \|So_{n} - t\| + \phi \, (\|t - \mathcal{P}_{c}(t)\| + \|t - St\|)$$

$$\leq (1 - \beta_{n}) \, \|So_{n} - t\| + L\beta_{n} \, \|So_{n} - t\|$$

$$\leq (1 - \beta_{n}(1 - L)) \, \|So_{n} - t\|$$

$$(2.14)$$

$$\|So_{n} - t\| = \|(1 - \gamma_{n}) \, \mathcal{SP}_{c}(h_{n}) + \gamma_{n} \mathcal{P}_{c} Th_{n} - (1 - \gamma_{n} + \gamma_{n}) \, t\|$$

$$= \|(1 - \gamma_{n}) \, (\mathcal{SP}_{c}(h_{n}) - t) + \gamma_{n} \, (\mathcal{P}_{c} Th_{n} - t)\|$$

$$\leq (1 - \gamma_{n}) \, \|\mathcal{SP}_{c}(h_{n}) - t\| + \gamma_{n} \, \|\mathcal{P}_{c} Th_{n} - t\|$$

$$= (1 - \gamma_{n}) \, \|\mathcal{P}_{c} \mathcal{S}(h_{n}) - t\| + \gamma_{n} \, \|\mathcal{P}_{c} Th_{n} - t\|$$

$$\leq (1 - \gamma_{n}) \, \|\mathcal{S}h_{n} - t\| + \gamma_{n} \, \|Th_{n} - t\|$$

$$\leq (1 - \gamma_{n}) \, \|\mathcal{S}h_{n} - t\| + L\gamma_{n} \, \|\mathcal{S}h_{n} - t\| + \phi \, (\|t - \mathcal{P}_{c}(t)\| + \|t - \mathcal{S}t\|)$$

$$\leq (1 - \gamma_{n}) \, \|\mathcal{S}h_{n} - t\| + L\gamma_{n} \, \|\mathcal{S}h_{n} - t\|$$

$$\leq (1 - \gamma_{n}(1 - L)) \, \|\mathcal{S}h_{n} - t\|$$

$$\leq (1 - \lambda(1 - L)) \, \|\mathcal{S}h_{n} - t\|$$

$$\leq (2.15)$$

Substitute Equation (2.15) in to Equation (2.14)

$$\|\mathcal{S}l_{n} - t\| = (1 - \beta_{n}(1 - L)) \left[(1 - \lambda(1 - L)) \|\mathcal{S}h_{n} - t\| \right]$$

$$= \left[(1 - \beta_{n}(1 - L)) (1 - \lambda(1 - L)) \right] \|\mathcal{S}h_{n} - t\|$$

$$\leq \left[(1 - \lambda(1 - L))(1 - \lambda(1 - L)) \right] \|\mathcal{S}h_{n} - t\|$$

$$\leq \left[(1 - \lambda(1 - L))^{2} \|\mathcal{S}h_{n} - t\| \right]. \tag{2.16}$$

Substitute Equation (2.16) &(2.15) in to Equation (2.13)

$$\begin{split} &\|Sh_{n+1} - t\| = L\left(1 - \alpha_{n}\right) \left[\left(1 - \lambda(1 - L)\right) \|Sh_{n} - t\|\right] + L\alpha_{n} \left(\left[1 - \lambda(1 - L)\right]^{2} \|\mathcal{S}_{n} - t\|\right) \\ &= \left[L\left(1 - \alpha_{n}\right) - L\lambda\left(1 - \alpha_{n}(1 - L) + L\alpha_{n}\left[1 - 2\lambda(1 - L) + \lambda^{2}(1 - L)\right]\right) \|\mathcal{S}h_{n} - t\|\right] \\ &\leq \left[L(1 - \lambda) - L\lambda\left(1 - \lambda(1 - L) + L\lambda\left[1 - 2\lambda(1 - L) + \lambda^{2}(1 - L)\right]\right) \|\mathcal{S}h_{n} - t\|\right] \\ &\leq \left[L - L\lambda - L\lambda + L\lambda^{2}(1 - L) + L\lambda - 2L\lambda^{2}(1 - L) + L\lambda^{3}(1 - L)\right] \|\mathcal{S}h_{n} - t\| \\ &\leq \left[L - L\lambda - L\lambda^{2}(1 - L) + L\lambda^{3}(1 - L)\right] \|\mathcal{S}h_{n} - t\| \\ &\leq L\left[\left(1 - \lambda\right) - \lambda^{2}(1 - L) + \lambda^{3}(1 - L)\right] \|\mathcal{S}h_{n} - t\| \\ &\leq L^{n}\left[\left(1 - \lambda\right) - \lambda^{2}(1 - L) + \lambda^{3}(1 - L)\right]^{n} \|\mathcal{S}h_{0} - t\| \end{split}$$

Put,
$$\mathcal{P} \cdot \mathcal{J} \cdot \mathcal{P} \cdot I = L^n \left[(1 - \lambda) - \lambda^2 (1 - L) + \lambda^3 (1 - L) \right]^n \| \mathcal{S} h_0 - t \|.$$

Now, because

$$\frac{\text{P.J.Z.I}}{\text{P.J.J.I}} = \frac{L^{2n} [1 - \lambda (1 - L)]^n \|\mathcal{S}c_0 - t\|}{L^n [(1 - \lambda) - \lambda^2 (1 - L) + \lambda^3 (1 - L)]^n \|\mathcal{S}h_n - t\|} \text{ as } n \to \infty,$$

therefore, projection Jungck Zenor-algorithm converge faster than projection Jungck P-algorithm. \square

References

- [1] M. Agarwal, R. Chugh and S. Kumar, Stability and convergence of Jungck modified S-iterative procedures, Int. J. Engin. Innov. 3 (2013), no. 2, 223–231.
- [2] R.P. Agarwal, D. Oregan and D.R. Sahu, Fixed point theory for Lipschitzian- type mapping with applications, Springer, New York, 2009.
- [3] M. Aslam and A. Bnouhachem, On an iterative algorithm for general variational inequalities, Appl. Math. Comput. 185 (2007), 155–168.
- [4] S. Banach, Sur les operations dans les ensembles abstraits et leur application aux equations integrals, Fund. Math. 3 (1922), 133-181.
- [5] V. Berinde, Picard iteration converges faster than Mann iteration for a class of quasi contractive operators, Fixed Point Theory Appl. 2 (2004), 97–105
- [6] L.E.J. Brouwer, Uber abbildungen Von mannigfaltigke item, Math. Ann. 71 (1912), 97–115.
- [7] S. Dhompongsa and A. Kaewcharoen, Fixed point theorems for nonexpansive mapping and Suzuki-generalized nonexpansive mappings on a Banach lattice, Nonlinear Anal. Theory Meth. Appl. A 71 (2009), no. 11, 5344–5353.
- [8] S. Dhompongsa, W. Inthakon and A. Kaewkho, Edelstein's method and fixed point theorems for some generalized nonex-pansive mapping, J. Math. Anal. Appl. **350** (2009), no. 1, 12–17.
- [9] S. Ishikawa, Fixed point by a new iteration method, Proc. Amer. Math. Soc. 44 (1974), no. 1, 147–150.
- [10] G. Jungck, Commuting mapping and Fixed point, Amer. Math. Month. 83 (1976), no. 4, 261–263.
- [11] W.R. Mann, Mean value methods in iteration, Proc. Amer. Math. Soc. 4 (1953), 506-510.
- [12] M.A. Noor, New approximation schemes for general variational inequalities, J. Math. Anal. Appl. 251 (2000), no. 1, 217–229.
- [13] M.A. Noor, Three-step iterative algorithms for multivalued quasi-variational inclusions, J. Math. Anal. Appl. 225 (2001), 589–604.
- [14] P. Sainuan, Rate of Convergence of P-iteration and S-iteration for continuous functions on closed intervals, Thai J. Math. 13 (2015), no. 2, 449–457.
- [15] N. Shahzad and G. Bassindowa, Fixed point theorems for nonexpansive mapping and Suzuki-generalized nonexpansive mappings with applications, J. Nonlinear Convex Anal. 13 (2012), no. 4, 657–666.
- [16] T. Suzuki, Strong convergence of Krasnoselskii and Mann's type sequences for one-parameter nonexpansive semi groups without Bochner integrals, J. Math. Anal. 305 (2005), 227–239.
- [17] T. Suzuki, Moudafi's viscosity approximation with Meir-Keeler contraction, J. Math. Anal. Appl. 325 (2007), 342–352.
- [18] T. Suzuki, Fixed point theorems and convergence theorems for some generalized nonexpansive mapping, J. Math. Anal. Appl. 340 (2008), 1088–1095.